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Most slides from CS 468, Stanford (Kim &



Previously

Map betweentwo shapes.




Question

What happens if youcompose
these maps?

(T

ﬁ%&viﬂ(




What do youexpect If
you compose
around a cycle?



Cycle consistency

|sahy-kuh | kuh n-sis-tuhn-see]:
Composing maps In a cycle
yields the identity

—




An Unpleasant Constraint

P1(P2(p3(x))) = 1d

Cycle consistency



Contrasting Viewpoint
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Philosophical Point

You should have a good reason If
your mapping tool isinconsistent.




Joint Matching: Simplest Formulation

Input
N shapes
N2 maps (see last lecture)

Output

Cycleconsistent
approximation



Holy Grall

Simultaneously optimize
all maps in a collection.
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Unsurprisingly...

Given: Model graph G = (S, F)
Find: Largest consistent spanning tree
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NP-hard



Sampling of methods for
consistent correspondence.

Spanning tree
Inconsistent cycle detection
Convex optimization



Spanning Tree: Original Context

(c) registered views (d) integrated model (e) texture mapped model
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Multi -view registration






